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(08 Marks)

{F}','

Defure DBMS. Discuss the
Explain the component mod

aa

2a. Defure the following,#ith an example
r) Weak enti

m taking into accgqnt atleast five entities, indicate all
are made. _*$ (08 Marks)

Discuss the Entity

(06 Marks)

5 a. How are t&ri%Efs and asserttons cleltned ur SQL/ Explam. (08 Marks)
b. How are vibws created and dropped? Explain how the views are implemented and updated.

(08 Marks)

Explain the Singlo-*'tier and Client - server architecture, with a neat diagram.
Explain the follbr#ing :

i) Embedded SQL
ii) Datab'ase stored procedure.
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'\Database Manage.,I=ft ffit System
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Time: 3 hrs. ,q . *;Max. Marks: 80

stions, dffihrr,g oNE full q""saoi'ff'ffi each modute.

nd Referential
bd ,..+" \,

ity corstra' ts.''ffiv is each considered

OR
(08 Marks)

(08 Marks)

1/r'

Discus s the fo llowingn;relational algebra,6p.er#ions. I
^.---^-ir F dFY n^m r^rtA.1 '='

llustrate.=Wilh an example for each :

JOIN, DIFFERENCE, SELECT, UNION. j .w* j (10 Marks)
*",i1 - &*""_d, '*p
t*J,' ' 

_..r*,,,,,,, 
1&, 

,1. ,ip

' 
'='''.'

,,r "'' ;q&- OR o'WmdW

Give thp&R to relational aappS$ algorithm. Di*x*s'3'each step with an example. (10 Marks)
n---ta":--,..irj^ f^rt----:--:- (:t/rfr 

=-:::::: %d

ulve t*h€;,: l( to reEtronal rllapp"I#g algonurm. IJlQGil s'eacn
Expldiryllie following in S@I.fu.; * *

i),,- Uhspecified WH$&fu&lause and usg,of the Asterisk.

',ii)' Explicit sets and\Q$,LS. . \
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Explain any two informal quality measures emptoys=&f'"a relational schema design'

,t'+ *u*". (04 Marks)

Explain lNF , 2NF and 3NF with an exampleAdt #c[ (12 Marks)
(&.q:Y 

.-.i.

QR"'- \' *fu

Defure Multivalued dependency. explffilW, with an example. q=6}- (08 Marks)

n.r.. roIN dependenc, ,*OHS.lTl 
1 

examrle' 

_=:h. 
* (08 Marks)

d*B N(oaute-S':
Why Concurrency control is_nffidFemonstrate with exaffi (12 Marks)

Discuss the desirible propeft&#f transactions. ,,+ (04 Marks)

n*ff* - (-lrrt' 
*- #&," \$sft.

a. When deadlock ano$#rvation problem occur& 
yExplain how these problems can be

resolved. W ** *= . ^ ., 
(09 Marks)

b. Explain frow sffiffiaging helps to *.rt#"m transaction failure' (07 Marks)
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